दिल्ली विकास प्राधिकरण राष्ट्रमण्डल खेल खण्ड—1 स्कूल ब्लॉक, शकरपुर दिल्ली—92

मि० सं० F.5 (317) 2019-20/EE/CGD.1/A/DDA/468

दिनांक: 29/01/2020

सेवा में,

मैसर्स सवीता कंस्ट्रक्शन कम्पनी सी–9/399–ए, ब्रीजपुरी दिल्ली–110094

कार्य का नाम : सीडब्ल्यूजी के तहत पूर्ण योजना का रखरखाव।

उप प्रमुख : अक्षरधाम मंदिर (बी-रोड) की सड़कों और फुटपाथ की मरम्मत और रखरखाव का कार्य।

संदर्भ: 1. कार्य स्वीकृत पत्र की गारंटी आकार में प्रस्तुत एफडीआर असर सं-39083124409 दि- 20/01/2020 रु. 1,05,000 / - की राशि द्वारा जारी भारतीय स्टेट बैंक, शाखा कोंडली मयूर

विहार नई दिल्ली 110096।

2. पत्र के आशय संख्या F.5(317)2019-20/EE/CGD.1/A/DDA/463

दिनांक 27/01/2020।

श्रीमान,

उपरोक्त वर्णित कार्य के लिए आपकी प्रतिशत दर की निविदा दिल्ली विकास प्राधिकरण की ओर से नीचे दिए गए विवरण के अनुसार आपके सहमत दरों पर नीचे विवरण अनुसार स्वीकार की गई है: -

1. अनुमानित लागत : रू. 20,95,207 / - (बीस लाख पिचानवे हजार दो सौ सात केवल)।

2. सहमत और स्वीकृत दर : @ 3.50% नीचे (तीन दशमलव पचास प्रतिशत नीचे) अनुमानित

लागत डी.एस.आर. 2018 से।

3. सहमत एवं स्वीकृत निविदा राशि : रु. 20,21,875 / - (बीस लाख इक्कीस हजार आठ सौ पिछत्तर केवल)।

(संलग्न परिशिष्ट की अन्सूची के अन्सार)।

आपसे अनुरोध है कि इस पत्र के जारी होने की तारीख से 15 दिनों के भीतर औपचारिक समझौते को पूरा करने के लिए 100 / - (केवल एक सौ रुपये) के मूल्य वाले गैर-न्यायिक स्टाम्प पेपर के साथ इस कार्यालय में उपस्थित हों।

आपसे निवेदन है कि काम शुरू करने के लिए आप इस डिवीजन के सहायक इंजीनियर -6 से सम्पर्क करें। कृपया ध्यान दें कि कार्य शुरू करने की तारीख कार्य शुरू करने की अनुमित पत्र जारी करने की तारीख के 10 वें दिन के बाद दिया जाएगा।

कार्य के निष्पादन के लिए अनुमत समय केवल 60 (साठ दिन) होगा। आपका दिनांक 25/01/2020 का सहमति पत्र भी समझौते का हिस्सा होगा।

धन्यवाद, आपका आभारी,

संलग्न: मात्रा की अन्सूची

हस्ता / — (राजीव कु० शर्मा) अधिशासी अभियंता रा.म.खेल खण्ड—1 / दि.वि.प्रा.

Copy to:-

- 1. Chief Engineer/EZ(CWG), DDA.
- 2. S.E./Eastern Civil Circle-2 (CWG)/DDA.
- 3. Director (System), DDA through E-Mail ddatender@dda.org.in for hosting the award letter on DDA's website www.dda.org.in.
- 4. Secy. (CRB), DDA.
- 5. Dy. CAO/CAU (P&CWG)/DDA.
- 6. All Executive Engineers, Eastern Maintenance Divisions & Commonwealth Games Divisions-3 & 4. DDA.
- 7. Labour Commissioner, 5, Sham Nath Marg, Delhi-54 for information please.
- 8. EE (QAC) I, DDA.
- 9. Income Tax Officer (Contractor Circle), 21st Floor, Civic Centre, Minto Road, New Delhi-110 002.
- 10. Sales Tax Officer (Work Contract Cell), Ward No.4, Bikri Kar Bhawan, ITO, New Delhi.
- 11. Sr. A.O. (Works)-I/DDA.
- 12. F.O. to C.E. /East Zone (CWG), D.D.A.
- 13. Sr. A.O./CAU/EZ (CWG)/DDA.
- 14. A.E.-6, CGD.1, D.D.A. along with a copy of Annexure Schedule of Quantity with the following direction:
 - a) To get relevant register from CB/CGD-1/DDA under the signature of undersigned.
 - b) Test check/record of measurement on all important/hidden items is to be done by AE to the extent of 100%.
- 15. A.E. (P)/CGD.1/DDA.
- 16. A.S.O., C.G.D.1, D.D.A.
- 17. Copy to agreement and all concerned files.

Sd/-Executive Engineer C.G.D.-1/D.D.A.

<u>अनुलग्नक</u> गुणवत्ता की अनुसूची

कार्य का नाम : सीडब्ल्यूजी के तहत पूर्ण योजना का रखरखाव।

उप प्रमुख : अक्षरधाम मंदिर (बी-रोड) की सड़कों और फुटपाथ की मरम्मत और रखरखाव का कार्य।

अनुमानित लागत : रु. 20,95,207 / -

सहमत और स्वीकृत दर : @ 3.50% नीचे (तीन दशमलव पचास प्रतिशत नीचे) अनुमानित लागत डी.एस.आर. 2018 से।

सहमत एवं स्वीकृत निविदा राशि : रु. 20,21,875 / -

Item No.	Descritpion of item	Quantity	Units	Rate in Rs. P	AMOUNT in Rs. P
1.00	Dismantling tile work in floors and roofs laid in cement mortar including stacking material within 50 metres lead. For thickness of tiles 10 mm to 25 mm.	149.26	Sqm.	54.85	8187.00
2.00	Providing and fixing prepolished precast concrete designer tiles 20mm to 25mm thick extra heavy duty of approved brand and manufacture(ultra tiles or equivalent) and of required shape and size over a bed of 20mm thick cement mortar 1:4 (1 cement:4 coarse sand) jointed with neat cement slurry including pointing the joints with ready mixed painting material complete in all respect as manufacturers specifications and direction of engineer in charge.	149.26	Sqm.	1334.75	199225.00
3.00	Stone work (machine cut edges) for wall lining etc. (veneer work) upto 10 metre height, backing filled with a grout of average 12 mm thick cement mortar 1:3 (1 cement : 3 coarse sand) including pointing in white cement mortar 1:2 (1 white cement : 2 stone dust) with an admixture of pigment matching the stone shade : (To be secured to the backing and the sides by means of cramps and pins which shall be paid for separately) : Red sand stone - exposed face fine dressed with rough backing. (a) 40 mm thick	40.00	Sqm.	4026.80	161072.00
4.00	Providing and fixing Glow studs of size 100x20 mm made of heavy duty body shall be moulded ASA (Acrylic styrene Acryloretrite) or HIP (High impact polystyrene) or ABS having electronically welded micro- prismatic lens with abrasion resistant coating as approved by Engineer in charge. The glow stud shall support a load of 13635 kg tested in accordance with ASTM D4280. The slope of retro- reflective surface shall be 35 (+/-5) degress to base .The reflective panels on both sides with at least 12 cm of reflective area up each side. The luminance intensity should be as per the specification and shall be tested as described in ASTM I: 809 as recommended in BS: 873 part 4: 1973. The studs shall be fixed to the Road surface using the adhesive conforming to IS, as per procedure recommended by the manufacturer complete and as per direction of Engineer-in-charge.	934.00	each	196.40	183438.00

5.00	Providing and fixing post delineators made of ABS round body fitted with 2 nos 100 mm dia high reflective reflectors and mounted on MS pipe of 65 mm dia duly powder coated anti-rust and anti theft steel to be installed as per direction of Engineer-in-charge.	50.00	each	714.45	35723.00
6.00	Providing and applying 2.5 mm thick road marking strips (retro reflective) of specified shade/ colour using hot thermoplastic material by fully/ semi automatic thermoplastic paint applicator machine fitted with profile shoe, glass beads dispenser, propane tank heater and profile shoe heater, driven by experienced operator on road surface including cost of material, labour, T&P, cleaning the road surface of all dirt, seals, oil, grease and foreign material etc. complete as per direction of Engineer-in-charge and accordance with applicable specifications.	655.50	Sqm.	607.30	398085.00
7.00	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level: 1:2:4 (1 cement: 2 coarse sand (zone-III) derived from natural sources: 4 graded stone aggregate 20 mm nominal size derived from natural sources.	21.44	Cum.	6788.60	145548.00
8.00	Neat cement punning.	402.00	Sqm.	62.75	25226.00
9.00	Steel work welded in built up sections/ framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works.	610.00	Kg	131.00	79910.00
10.00	Manufacturing, supplying and fixing retro reflective overhead signage boards made up of 2 mm thick aluminium sheet, face to be fully covered with high intensity and encapsulated lens type heat activated retro reflective sheeting conforming to type - III of ASTM-D-4956-01 as approved by Engineer-in-charge, letters, borders etc. as per IRC : 67-2001 in silver white with blue colour back ground and with high intensity grade, pasted on substrate by pressure sensitive adhesive backing which shall be activated by applying pressure conforming to class II of ASTM-D-4956-01 and fixing the same to the plate of structural frame work by means of suitable sized aluminium alloys, rivets or bolts & nuts @ 300 mm centre to centre all along the periphery as well as in two vertical rows along with theft resistant measures, including the cost of painting with two or more coats of epoxy paint in grey colour on the back side of aluminium sheet including appropriate priming coat. The rate includes the cost of rounding off the corners, lowering down the structural frame work from the gantry, fixing and erecting the same in position all complete as per drawings, specification and direction of the engineer-in-charge.(Structural frame work including M.S. plate to be provided separately. Rectangular area of the sheet only shall be measured for payment). Overhead informatory road signage.	73.20	Sqm.	5284.45	386822.00
11.00	12 mm cement plaster of mix : 1:6 (1 cement: 6 coarse sand)	690.00	Sqm.	263.55	181850.00

Negotiated and accepted tender amount in Words		RupeesTwenty Lakh Twenty OneThousand Eight Hundred Seventy Five Only			
Negotiated and accepted Rate in Figures Negotiated and accepted tender amount					2021875.00
			Less (-)	3.50% below	(-) 73332.00
Total in Figures					2095207.00
15.00	Finishing walls with water proofing cement paint of required shade : New work (Two or more coats applied @ 3.84 kg/10 sqm)	690.00	Sqm.	91.25	62963.00
14.00	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	690.00	Sqm.	39.00	26910.00
13.00	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade : One or more coats on old work	1320.16	Sqm.	79.95	105547.00
12.00	Providing and placing in position 100 mm thick factory made machine batched & machine mixed Precast RCC Rectangular Covers on drains of footpath of various sizes, of M-25 grade cement concrete for RCC work, including cost of centering, shuttering, reinforcement of 8 mm dia TMT bars of Fe 500 grade @ maximum 100mm c/c on both ways , neat cement punning on finished surface, properly encased on all edges with 1.6 mm thick , 100 mm wide MS sheet duly painted over priming coat , reinforcement to be welded at edges with MS sheet and providing 2 Nos. 12 mm dia bar for hooks etc i/c cost of cartage, all leads & lift, handling at site etc. all complete as per direction of Engineer-in-Charge.	37.50	Sqm.	2525.35	94701.00

हस्ता / – (राजीव कु० शर्मा) अधिशासी अभियंता रा.म.खेल खण्ड–1 / दि.वि.प्रा.

OFFICE OF THE EXECUTIVE ENGINEER COMMONWEALTH GAMES DIVISION NO.1 D.D.A., SCHOOL BLOCK, SHAKARPUR DELHI -110 092

No. F.5 (317) 2019-20/EE/CGD.1/A/DDA/468

Dated:29/01/2020

To.

M/s Savita Construction Co. C-9/399-A, Brijpuri, Delhi – 110 094

Name of work: M/O Completed Scheme under CWG.

Sub Head: Repair and maintenance of Roads and Footpath infront of Akshardham

Mandir (B-Road).

Reference: 1. Performance Guarantee submitted in shape FDRs bearing A/c

No. 39083124409 dt. 20/01/2020 amounting to Rs.105,000/-of State Bank of

India, Kondli Branch, Mayur Vihar, Ph.3, Delhi – 110 096.

2. Letter of Intent No F.5(317)2019-20/EE/CGD.1/A/DDA/463 dated 27/01/2020.

Dear Sir(s),

Your percentage rate tender for the above mentioned work has been accepted on behalf of Delhi Development Authority at your negotiated rates as per detail given below:-

1. Estimated cost : Rs.20,95,207/- (Rupees Twenty lakh ninety five

thousand two hudnred seven only).

2. Negotiated and accepted Rate: @3.50% below (Three point five zero percent

below) the estimated cost on DSR-2018.

3. Negotiated and Accepted : Rs.20,21,875/- (Rupees Twenty lakh twenty one

Tender amount : thousand eight hundred seventy five only).

(As per Annexure Schedule of Quantity enclosed).

You are requested to attend this office along with a non-judicial stamp paper worth Rs.100/-(Rupees one hundred only) to complete formal Agreement within 15 days from the date of issue of this letter.

You are requested to contact Asstt. Engineer-6 of this Division and to start the work at once. Please note that the time allowed for carrying out the work as entered in the tender shall be reckoned 10th day after the date of issue of letter of award to commence the work.

The time allowed for execution of the work will be 60 days (Sixty days) only. Your negotiation letter dated 25/01/2020 shall also form part of the agreement.

Thanking You,

Yours faithfully,

Encl.: Annexure Schedule of quantity.

Sd/-(Rajeev Kr. Sharma) Executive Engineer C.G.D.1/D.D.A.

Copy to:-

- 1. Chief Engineer/EZ(CWG), DDA.
- 2. S.E./Eastern Civil Circle-2 (CWG)/DDA.
- 3. Director (System), DDA through E-Mail ddatender@dda.org.in for hosting the award letter on DDA's website www.dda.org.in.
- 4. Secy. (CRB), DDA.
- Dy. CAO/CAU (P&CWG)/DDA.
- 6. All Executive Engineers, Eastern Maintenance Divisions & Commonwealth Games Divisions-3 & 4, DDA.
- 7. Labour Commissioner, 5, Sham Nath Marg, Delhi-54 for information please.
- 8. EE (QAC) I, DDA.
- 9. Income Tax Officer (Contractor Circle), 21st Floor, Civic Centre, Minto Road, New Delhi-110 002.
- 10. Sales Tax Officer (Work Contract Cell), Ward No.4, Bikri Kar Bhawan, ITO, New Delhi.
- 11. Sr. A.O. (Works)-I/DDA.
- 12. F.O. to C.E. /East Zone (CWG), D.D.A.
- 13. Sr. A.O./CAU/EZ (CWG)/DDA.
- 14. A.E.-6, CGD.1, D.D.A. along with a copy of Annexure Schedule of Quantity with the following direction:-
 - C) To get relevant register from CB/CGD-1/DDA under the signature of undersigned.
 - d) Test check/record of measurement on all important/hidden items is to be done by AE to the extent of 100%.
- 15. A.E. (P)/CGD.1/DDA.
- 16. A.S.O., C.G.D.1, D.D.A.
- 17. Copy to agreement and all concerned files.

Sd/-Executive Engineer C.G.D.-1/D.D.A.

ANNEXURE SCHEDULE OF QUANTITY

Name of work: M/O Completed Scheme under CWG.

Sub Head: Repair and maintenance of Roads and Footpath infront of Akshardham Mandir (B-Road).

Estimated cost : Rs.20,95,207/-

Negotiated and accepted Rate : @3.50% below the estimated cost on DSR-2018

Negotiated and Accepted Tender amount : Rs.20,21,875/-

Item No.	Descritpion of item	Quantity	Units	Rate in Rs. P	AMOUNT in Rs. P
1.00	Dismantling tile work in floors and roofs laid in cement mortar including stacking material within 50 metres lead. For thickness of tiles 10 mm to 25 mm.	149.26	Sqm.	54.85	8187.00
2.00	Providing and fixing prepolished precast concrete designer tiles 20mm to 25mm thick extra heavy duty of approved brand and manufacture(ultra tiles or equivalent) and of required shape and size over a bed of 20mm thick cement mortar 1:4 (1 cement:4 coarse sand) jointed with neat cement slurry including pointing the joints with ready mixed painting material complete in all respect as manufacturers specifications and direction of engineer in charge.	149.26	Sqm.	1334.75	199225.00
3.00	Stone work (machine cut edges) for wall lining etc. (veneer work) upto 10 metre height, backing filled with a grout of average 12 mm thick cement mortar 1:3 (1 cement : 3 coarse sand) including pointing in white cement mortar 1:2 (1 white cement : 2 stone dust) with an admixture of pigment matching the stone shade : (To be secured to the backing and the sides by means of cramps and pins which shall be paid for separately) : Red sand stone - exposed face fine dressed with rough backing. (a) 40 mm thick	40.00	Sqm.	4026.80	161072.00
4.00	Providing and fixing Glow studs of size 100x20 mm made of heavy duty body shall be moulded ASA (Acrylic styrene Acryloretrite) or HIP (High impact polystyrene) or ABS having electronically welded micro- prismatic lens with abrasion resistant coating as approved by Engineer in charge. The glow stud shall support a load of 13635 kg tested in accordance with ASTM D4280. The slope of retro- reflective surface shall be 35 (+/-5) degress to base .The reflective panels on both sides with at least 12 cm of reflective area up each side. The luminance intensity should be as per the specification and shall be tested as described in ASTM I: 809 as recommended in BS: 873 part 4: 1973. The studs shall be fixed to the Road surface using the adhesive conforming to IS, as per procedure recommended by the manufacturer complete and as per direction of Engineer-in-charge.	934.00	each	196.40	183438.00

5.00	Providing and fixing post delineators made of ABS round body fitted with 2 nos 100 mm dia high reflective reflectors and mounted on MS pipe of 65 mm dia duly powder coated anti-rust and anti theft steel to be installed as per direction of Engineer-in-charge.	50.00	each	714.45	35723.00
6.00	Providing and applying 2.5 mm thick road marking strips (retro reflective) of specified shade/ colour using hot thermoplastic material by fully/ semi automatic thermoplastic paint applicator machine fitted with profile shoe, glass beads dispenser, propane tank heater and profile shoe heater, driven by experienced operator on road surface including cost of material, labour, T&P, cleaning the road surface of all dirt, seals, oil, grease and foreign material etc. complete as per direction of Engineer-in-charge and accordance with applicable specifications.	655.50	Sqm.	607.30	398085.00
7.00	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level: 1:2:4 (1 cement: 2 coarse sand (zone-III) derived from natural sources: 4 graded stone aggregate 20 mm nominal size derived from natural sources.	21.44	Cum.	6788.60	145548.00
8.00	Neat cement punning.	402.00	Sqm.	62.75	25226.00
9.00	Steel work welded in built up sections/ framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works.	610.00	Kg	131.00	79910.00
10.00	Manufacturing, supplying and fixing retro reflective overhead signage boards made up of 2 mm thick aluminium sheet, face to be fully covered with high intensity and encapsulated lens type heat activated retro reflective sheeting conforming to type - III of ASTM-D-4956-01 as approved by Engineer-in-charge, letters, borders etc. as per IRC: 67-2001 in silver white with blue colour back ground and with high intensity grade, pasted on substrate by pressure sensitive adhesive backing which shall be activated by applying pressure conforming to class II of ASTM-D-4956-01 and fixing the same to the plate of structural frame work by means of suitable sized aluminium alloys, rivets or bolts & nuts @ 300 mm centre to centre all along the periphery as well as in two vertical rows along with theft resistant measures, including the cost of painting with two or more coats of epoxy paint in grey colour on the back side of aluminium sheet including appropriate priming coat. The rate includes the cost of rounding off the corners, lowering down the structural frame work from the gantry, fixing and erecting the same in position all complete as per drawings, specification and direction of the engineer-in-charge. (Structural frame work including M.S. plate to be provided separately. Rectangular area of the sheet only shall be measured for payment). Overhead informatory road signage.	73.20	Sqm.	5284.45	386822.00

11.00	12 mm cement plaster of mix : 1:6 (1 cement: 6 coarse sand)	690.00	Sqm.	263.55	181850.00
12.00	Providing and placing in position 100 mm thick factory made machine batched & machine mixed Precast RCC Rectangular Covers on drains of footpath of various sizes, of M-25 grade cement concrete for RCC work, including cost of centering, shuttering, reinforcement of 8 mm dia TMT bars of Fe 500 grade @ maximum 100mm c/c on both ways, neat cement punning on finished surface, properly encased on all edges with 1.6 mm thick, 100 mm wide MS sheet duly painted over priming coat, reinforcement to be welded at edges with MS sheet and providing 2 Nos. 12 mm dia bar for hooks etc i/c cost of cartage, all leads & lift, handling at site etc. all complete as per direction of Engineer-in-Charge.	37.50	Sqm.	2525.35	94701.00
13.00	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade : One or more coats on old work	1320.16	Sqm.	79.95	105547.00
14.00	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	690.00	Sqm.	39.00	26910.00
15.00	Finishing walls with water proofing cement paint of required shade : New work (Two or more coats applied @ 3.84 kg/10 sqm)	690.00	Sqm.	91.25	62963.00
Total in Figures					2095207.00
Negotiated and accepted Rate in Figures Negotiated and accepted tender amount			Less (-)	3.50% below	(-) 73332.00
					2021875.00
Negotiated and accepted tender amount in Words		RupeesTwenty Lakh Twenty OneThousand Eight Hundred Seventy Five Only			

Sd/-(Rajeev Kr. Sharma) Executive Engineer C.G.D.1/D.D.A.